

①

In-CLASS ASSIGNMENT #3  
 SOLUTIONS  
 FEB 6th 2012  
 NYA CALCULUS (ELECTRONICS)

①  $f(x) = x^2 + 5x$

a.  $f(3) = 9 + 15 = 24$

b.  $f(-2) = 4 - 10 = -6$

c.  $f(y) = y^2 + 5y$

d.  $f(x + \Delta x) = (x + \Delta x)^2 + 5(x + \Delta x)$   
 $= x^2 + 2x\Delta x + (\Delta x)^2 + 5x + 5\Delta x$

e.  $f(x^3) = (x^3)^2 + 5x^3$   
 $= x^6 + 5x^3$

f.  $\frac{f(x + \Delta x) - f(x)}{\Delta x}$   
 $= \frac{[x^2 + 2x\Delta x + (\Delta x)^2 + 5x + 5\Delta x] - [x^2 + 5x]}{\Delta x}$   
 $= \frac{2x\Delta x + (\Delta x)^2 + 5\Delta x}{\Delta x}$   
 $= \frac{\Delta x (2x + \Delta x + 5)}{\Delta x}$

②  $f(x) = \sqrt{5 - x} + 2$

a.  $f(1) = \sqrt{5 - 1} + 2 = 4$

b.  $f(-4) = \sqrt{5 - (-4)} + 2 = 5$

c.  $f(y) = \sqrt{5 - y} + 2$

d.  $f(x + \Delta x) = \sqrt{5 - (x + \Delta x)} + 2$

e.  $f(x^3) = \sqrt{5 - x^3} + 2$

f.  $\frac{f(x + \Delta x) - f(x)}{\Delta x} = \frac{[\sqrt{5 - (x + \Delta x)} + 2] - [\sqrt{5 - x} + 2]}{\Delta x}$   
 $= \frac{\sqrt{5 - (x + \Delta x)} - \sqrt{5 - x}}{\Delta x}$

3  $f(x) = \frac{2}{1+x}$

a.  $f(1) = \frac{2}{2} = 1$

b.  $f(-4) = \frac{2}{1-4} = -\frac{2}{3}$

c.  $f(y) = \frac{2}{1+y}$

d.  $f(x+\Delta x) = \frac{2}{1+x+\Delta x}$

e.  $f(x^3) = \frac{2}{1+x^3}$

f.  $\frac{f(x+\Delta x) - f(x)}{\Delta x}$

$= \frac{\frac{2}{1+x+\Delta x} - \frac{2}{1+x}}{\Delta x}$

4  $f(x) = e^x/x$

a.  $f(1) = \frac{e^1}{1} = e$

b.  $f(-4) = \frac{e^{-4}}{-4} = -\frac{1}{4e^4}$

c.  $f(y) = \frac{e^y}{y}$

d.  $f(x+\Delta x) = \frac{e^{x+\Delta x}}{x+\Delta x}$

e.  $f(x^3) = \frac{e^{x^3}}{x^3}$

f.  $\frac{f(x+\Delta x) - f(x)}{\Delta x}$

$= \frac{\frac{e^{x+\Delta x}}{x+\Delta x} - \frac{e^x}{x}}{\Delta x}$

5 [QUESTION 1]

$m = \lim_{\Delta x \rightarrow 0} \frac{f(x+\Delta x) - f(x)}{\Delta x}$   
 $= \lim_{\Delta x \rightarrow 0} \frac{\cancel{\Delta x}(2x+\Delta x+5)}{\cancel{\Delta x}}$   
 $= 2x + 5$

slope @

a.  $x=1$   $m=7$

b.  $x=2$   $m=9$

c.  $x=-2$   $m=1$

d.  $x=5$   $m=15$

[QUESTION 2]

$$\begin{aligned}
 m &= \lim_{\Delta x \rightarrow 0} \frac{f(x+\Delta x) - f(x)}{\Delta x} \\
 &= \lim_{\Delta x \rightarrow 0} \left[ \frac{\sqrt{5-(x+\Delta x)} - \sqrt{5-x}}{\Delta x} \right] \left[ \frac{\sqrt{5-(x+\Delta x)} + \sqrt{5-x}}{\sqrt{5-(x+\Delta x)} + \sqrt{5-x}} \right] \\
 &= \lim_{\Delta x \rightarrow 0} \frac{[5-(x+\Delta x)] - [5-x]}{\Delta x [\sqrt{5-(x+\Delta x)} + \sqrt{5-x}]} \\
 &= \lim_{\Delta x \rightarrow 0} \frac{-\Delta x}{\Delta x [\sqrt{5-(x+\Delta x)} + \sqrt{5-x}]} \\
 &= \lim_{\Delta x \rightarrow 0} \frac{-1}{\sqrt{5-(x+\Delta x)} + \sqrt{5-x}} \\
 &= \frac{-1}{\sqrt{5-x} + \sqrt{5-x}} = \frac{-1}{2\sqrt{5-x}}
 \end{aligned}$$

slope @

a.  $x=1$       $m = \frac{-1}{2\sqrt{4}} = -\frac{1}{4}$

b.  $x=2$       $m = \frac{-1}{2\sqrt{3}}$

c.  $x=-2$       $m = \frac{-1}{2\sqrt{7}}$

d.  $x=5$       $m = \frac{-1}{2\sqrt{0}}$  DNE

[QUESTION 3]

$$\begin{aligned}
m &= \lim_{\Delta x \rightarrow 0} \frac{f(x+\Delta x) - f(x)}{\Delta x} \\
&= \lim_{\Delta x \rightarrow 0} \frac{\frac{2}{1+x+\Delta x} - \frac{2}{1+x}}{\Delta x} \\
&= \lim_{\Delta x \rightarrow 0} \frac{2(1+x) - 2(1+x+\Delta x)}{(1+x+\Delta x)(1+x) \Delta x} \\
&= \lim_{\Delta x \rightarrow 0} \frac{2+2x-2-2x-2\Delta x}{(1+x+\Delta x)(1+x)} \cdot \frac{1}{\Delta x} \\
&= \lim_{\Delta x \rightarrow 0} \frac{-2\cancel{\Delta x}}{(1+x+\Delta x)(1+x)} \cdot \frac{1}{\cancel{\Delta x}} \\
&= \lim_{\Delta x \rightarrow 0} \frac{-2}{(1+x+\Delta x)(1+x)} = \frac{-2}{(1+x)^2}
\end{aligned}$$

Slope @

a.  $x=1 \quad \frac{-2}{2^2} = -\frac{1}{2}$

b.  $x=2 \quad m = \frac{-2}{3^2} = -\frac{2}{9}$

c.  $x=-2 \quad m = \frac{-2}{(-1)^2} = -2$

d.  $x=5 \quad m = \frac{-2}{6^2} = \frac{-2}{36} = -\frac{1}{18}$